
so : S1 :

5.3 : so :

Adding & subtracting with indices Simplify by multiplying (addition law)

Simplify by dividing (subtraction law) Powers of powers

simplify: Match thecalculations to the simplified
version

112x+7c =9x2
a xa xa aaa xa xbi x b2

2) 3x +80C =lle

3) 7a +2a+b =9a +b X ↓
4)3b +bi - b - b =4b - 2b2 a

* a abs

5)2x +3x +3x +2x
=
5x +5x2

Work outthe missing values 1) (22)=20 6)(2x2)
=

8x

17 3* =3 =3
5

5) 12x* =4 =3x 2) (32)=3* 7) (Fet=490*

2) x= 630x
22

=2x=25x"3)(x2) =0 6) (4x8) =64x24

3) a
*
=a=a 7) 646

=

8x7 4) (x) * =x* a) (3x) =27x
2

86
4) 4a=2a =2a 5) (C)* =

3 10) (5x")* =125x


